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PROB: Given  

v(t) = cos(2π ft)+ 3 2 cos(2π ft + 45°) , 

use phasor transforms, denoted by P[ ] below, to find an expression for v(t) in 
polar form: 

v(t) = Acos(2π ft +φ) . 

That is, use phasors to complete the following calculations and find the values of A 
and φ. 

P[cos(2π ft)] =  ___________________ 

P[3 2 cos(2π ft + 45°)] =  ___________________ (use rectangular, a+jb, form) 

sum of above two phasors = _________________ (use rectangular, a+jb, form) 

sum in polar, Aejφ, form = _________________ 

A = ___________        φ = ____________ 
 


